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Qi. In the magic square, the rows, columns and diagonals add to the same number.

10 & ¥ lo+$5 +6 =21
5 y 9 Se Colvhhs and rowd
each add o 2.1
6 11 4
Work outthe valuesof w, xandy. © +4 + ¢ = 2| S+9 +y =2l
i85 = 21 14 +y =2/
e = & Yy = 7
104 W+ & = 2(
12 T I o) o e
w =3 Answerw:...3 ..... x=....2.. ..... y=..z .....

(Total 3 marks)

Q2. (@) If x <~ ymeans 2x + y find the value of 2 <> 8

ANSWET ...covveeeneene ’Z ........................
(1)
(b) fm ¥ nmeans 7 find the value of 4 ¥ 10 "_"‘2 = 3 =
ANSWEr .....ccoevuvennen. 7 ........................
(2)
(c) Simplify 6a+7b-2a+b T 4a + £
Answer 444—85 ...............
()
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(d) Solve the equation 5w+6=9-w

o = 3
....................................................... w"_,.
........................................................................... I WL |7~ F L)
5
Answer w=.............. 2— ............................
3)
(Total 8 marks)
Q3. (a) Solve the equation %: -4 X = —4-X20
............................................................................ x =80 ..
Answer x = ....... e go ..........................................
(1)
(b)  Solve the equation 8w—-5=3w+1
Answer w=............ /5' ...........................................
3)
(c) Simplify y+2xyxy = Y+ 2«;‘
Answer .......... or‘ ........... :) (,+23) ............... )
{
(d) Factorise 15t+25 = & ( 3 + S')
Answer ............. §(3E+-Y) ............................ s
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(e) Factorise Z+8z = 22 ( 2 + g)

Answer .............. Z(Z*?> .........................
(1)
(Total 7 marks)
Q4. ABCD is a quadrilateral.
2x + 3y
A Not drawn accurately
Ix 4x + 2y
D
Ex+y C
(a) Write down an expression for the perimeter of the quadrilateral in terms of x and y.
Simplify your answer.
...... Perimeter = Sx + 22 43y A+ Az +1q +Sx 4y
R N oo o B 5. 1 S AUt AR
Answer ......... l4_x+é3 .........
()
(b)  When x = 4 cm, the perimeter of the quadrilateral is 68 cm.
Find the value of y. 14_(4) +éj o= LE
§¢ + &y = (%
6y= 6€~S4 Z
......................................................................................................................... l
......................................................... oo A TR . ok
Answer 3:2 .......... cm
@)

(Total 5 marks)
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Q5. (a) Solve the equation %

(1)
. x+1
(b)  Solve the equation 2-3x:3
........... = I e AR
x4+ = L — 4
.......... SRR G B - L i
10x =
.......................... T T M e
.................. T R { el LTy - o PR g
........................................................................................... }'
ANSWET X = oo @agenrevennsseeseneeens
@)
(Total 4 marks)
Q6. (a) You are given that 6x = 48 x = 4%
Work out the value of 5x i
x = ¥
§x = €x§
Answer....‘..g..-f.(. ..... : ..... 4'0 ..........
(2)
(b)  Solve the equation 2(4y-1)=18
L e T R MR s
i o cibh e (kAL Lot e
by 26 bl
=22 R P or 2%
2 Answer y = ....... /2 ........................... &
. (Total 5 marks)
‘3 R

Page 5 of 6



